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Sixth Semester of Three Year LL.B. Degree Examination, December 2013
LAW OF EVIDENCE

Duration : 3 Hours Max. Marks : 100

Instructions: 1. Answer all five Questions.
2. One essay type and one short note question or problem
fromeach Unit have to be attempted.
3. Figures to the right indicate marks.
4. Answers should be either in English or Kannada completely.

UNIT -1

Q. No. 1.(a) Explain the relevancy of introductory or explanatory facts. Marks : 15
TAYTT 302 é)ﬁdm%% ézg%mf zbﬂowcgséojadgt QWORD.
OR/e5e

Define Admissions. State the persons whose admissions are
relevant.
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(b) ‘A’ is accused of ‘B’s murder by beating him. At the time of
incident there was an exchange of words between ‘A’ and ‘B’.
Is this fact relevant. Marks : 5
R W B BAERD IS IRAE STRTSRRTNTS. PLNOD
ROTIFTY, @d@&g}d ST TORT TN @omdﬁg{
SROTTONG. B3 WORNFZT0 ﬂaﬁowd@ﬁe?
OR/e5e

The question is whether ‘A’ robbed ‘B’. Does the fact that,
shortly before the robbery, ‘B’ went to a shop with money in his
possession and showed it to third persons, is relevant ?
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Q. No. 2.(a)

(b)

Q. No. 3.(a)

2

UNIT -1l

What is dying declaration ? What are the conditions for its
relevancy ?

RTeaTIE FePFEOOTTERO ? LTWT RIROLTIZOI AORZNTT)eY ?

OR/e5s0

Explain the circumstances in which judgements of the courts
become relevant.
mﬁo:’me;cﬁad e FNLd :bﬁoucémrbd #odzﬁrmf@g{ QDTOR0.

‘A’ is accused of murder of ‘C’. During trial ‘A’ confesses,
| and ‘B’ murdered ‘C’ . Can this confession be considered
against ‘B’ ?
T T QOURTI, TR BRAT STTIRATRNRS. NPTH
OT WED T WY W D B’ TR, RS [RRTOTN
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OR/e5se

The question is whether ‘A’ was legitimate son of ‘B’. Does
the fact that, ‘A’ was always treated as such by the members
of the family relevant ?
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UNIT -1l

“Oral evidence must in all the cases whatsoever be direct”.
Explain with exceptions.

"7 m%ﬁe:o R, TITLNFA)_ CIRYTie RomLIr 0O Sedemen
adé@cﬁ;’. TITBNRRODN QDTORD.

OR/egw

What are public documents ? How they are proved ?

Marks : 15

Marks : 5

Marks : 15
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(b) Write a note on relevancy of character evidence in civil cases. Marks : 5
QR BFOBTY, 86w AT T ROFOWTZ B0 8Ted LTUD.
OR/e5s0

Write a note on secondary evidence relating to documents.
TRRReWONY B0 O, SecdB m%d W, 238 2B0U0.

UNIT -1V

Q. No. 4. (a) What are presumptions ? Explain the presumption as to the
legitimacy of a child. Marks : 15
TR EPBSNEOTTER 7 MT FdF W, 300D B3I
msrmsm@ QNWO0.

OR/esgs5

Define Estoppel. Distinguish it with Resjudicata.
é)mocp’da’p}L AT T0BY @dd& PRELDT OITZRODN DONRBR.

(b) ‘A’ sues ‘B’ for money due on a bond. ‘B’ has admitted the
execution of bond but contends that it was obtained by fraud.
‘A’ denies it. On whom does the burden of proof lies ? Marks : 5

20030 WRORTT,0D WILWETT Ssa%%ﬁ ‘U ‘W ébdxgp (DI
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OR/egw

‘A’ has drawn a bill of exchange upon ‘B’. On its presentation
‘B’ denies that the bill was actually drawn by ‘A’. Is ‘B’
estopped from saying so ?
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UNIT-V

Q. No. 5.(a) Who are competent to testify under Indian Evidence Act ?
Examine the competence of the following persons as witnesses.
i) Child witness i) Dumb witness. Marks : 15
LIOTECO m% BHA0RTE 03T m@a TP FROTETO ?
B 3YBOT [N mgomﬁw QTR mmzﬁérﬁs& T08eDRD.
i) omd>mg ii) SoseT mY .
OR/esgs5

What are leading questions ? When they can be asked ?
NZT AT @%ﬁﬁ?oddeab? eﬁ@r{eﬁ@t o35eEen FeFWTOTY ?

(b) ‘A’ aclient says to ‘B’, an Advocate, “I have committed forgery
and | wish you to defend me”. Is this communication protected
from disclosure ? Marks : 5
‘& 00 BFERTR ‘W 0L TYORETRN TR FpewFO
BRRTTNCL T 3@{5&0{ dzgsﬁ?je%oda ASAICHSICHIVRCH
BeFOIN LETOMTRFINBFCA0T TIFOLIIE ?
OR/&5wm?

A prosecution witness turned hostile during examination in
chief. The public prosecutor wants to cross examine him,
Canhedoso?
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